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before you begin to attempt the questions.

INSTRUCTIONS TO CANDIDATE

This booklet contains 100 Questions in all comprising the following Four parts.

e Part-(I) : General Intelligence and Reasoning (25 Questions)
e Part-(ll) : Quantitative Aptitude (25 Questions)
e Part-(lll) : General Awareness (25 Questions)
e Part-(lV) : English Language (25 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages and
find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately.
Each question carries negative marking also as 0.5 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant
question number by Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different
from the information given in the application form, the candidature of such candidate will be treated as cancelled.
The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.
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General Intelligence and Reasoning

Select the option that is related to the third term in the
same way as the second term is related to first term
and the sixth term is related to the fifth term.

95: 36::33: 7 :: 81: 63

(A) 20 (B)O

(C) 48 (D) 21

Select the option in which the numbers shares the
same relationship in set as that shared by the numbers
in the given set. (NOTE: Operations should be
performed on the whole numbers, without breaking
down the numbers into its constituent digits.

E.g.13 — Operations on 13 such as adding /subtracting
/multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed)
(79, 89, 101)
(31,41, 47)
(A) (29, 37, 43)
(C) (17, 19, 23)

(B) (53, 61, 67)
(D) (43, 47, 59)

If the following interchanges are made in signs, then
what would be the value of the following expression?
15+12+4-21x18

Interchanges:

Signs: + and x

(A) 2 (B) 27
(C) 12 (D) 6

Three of the following four letter clusters are alike in a
certain way and one is different. Pick the cluster that is
different from the rest.

(A) HS (B) CX

(C) MN (D) JP

If '"A' means ' x ', 'B' means '+, 'C' means '+ and 'D'
means '- ', then what will come in the place of '?" in the
given expression?

196B7C12A9D?=9A8

(A) 54 (B) 84

(C)74 (D) 64

Select the letter cluster from among the given options
that can replace the question mark (?) in the following
series.

GDR, CHN, YLJ, ?, QTB
(A) UPF

(C) VPE

(B) UDH
(D) VMF

If A @ B means A is the spouse of B.

A # B means A is the sister of B.

A $ B means A is the brother of B.

A % B means A is the son of B.

If'V%W@XS$Y#Z % U'is true, then how is V related
to U?

(A) Grandson (B) Grandfather

(C) Son (D) Cannot be determined

In the questions given below there are three
statements followed by three conclusions I, Il and .
You have to take the given three statements to be true
even if they seem to be at variance from commonly
known facts. Read all the conclusions and then decide
which of the given conclusions logically follows from
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the given statements disregarding commonly known
facts.

Statements: All Single are Lone

Only a few Lone are Free

Some Single are One

Conclusion: I. Some One are not Free
Il. Some One are Lone

lll. Some Free are Single

(A) Only conclusion | follows

(B) Only conclusion Il follows

(C) Only conclusion IlI follows

(D) All of the conclusions follow

Select the combination of letters that when sequentially
placed in the blanks of the given series will complete
the series.

XY_ZX_XZXy_ _
(A) xxyz (B) xyxz
(C) yxyz (D) xyxx

Figure A is related to figure B following a certain
pattern. Following the same pattern, figure C is related
to figure D. Study the pattern and select the figure
which should be placed in place of C.

a1 ||

A B

-~

D

A @ B
OA ,

© (D)

Three of the following words are alike in some
manner and hence form a group. Which word does
NOT belong to that group? (The words must be
considered as meaningful English words and must not
be grouped based on the number of letters/number of
consonants/vowels in the word) .

(A) CO2 (B)H

(C) Os (D) Mg

Select the figure from the given options that can
replace the question mark (?) in the following series.

AR AR AR rd R
[ Cel/ [\ [e¥|[ e[ /]|

(A) (B)
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A series is given with two terms missing. Choose the
correct alternatives from the given ones that will
complete the series.

46, , 52, 58, 66, 76, , 102
(A) 50, 86 (B) 48, 88
(C) 50, 92 (D) 48, 86

In a certain code of language, 'NIGHTS' is coded as
'GINSTH' and 'PURPLE' is coded as 'RUPELP'. How
is 'STREAM' coded as in the same code language?
(A) SRTMEA (B) RETMAS

(C) RTSMAE (D) RSTAME

Select the option figure which is embedded in the given
figure. (rotation is NOT allowed)

DA

Fa\V

Pan 7

(€)

In the following question, four number pairs are given.
In each pair the number on the left side of ( - ) is related
to the number of the right side of ( - ) with some
Logic/Rule/Relation. Three pairs are similar on basis of
same Logic/Rule/Relation. Select the odd one out from
the given alternatives. (NOTE: Operations should be
performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g., 13 -
Operation on 13 such as adding/subtraction/division
etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on
1 and 3 is not allowed)
(A) 4560 - 1824

(C) 5635 - 2254

(B) 2400 - 960
(D) 2830 — 1122

If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?
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In a certain code language, 'ROGUE' is coded as
'74715' and 'CLASH' is coded as '31188'. How will
'TERMS' be coded in the same language?

(A) 36828 (B) 25728

(C) 56321 (D) 98524

Select the missing number from the given responses.
23111 ]30

36 | 14 | 55
28 |14 | ?

(A) 46 (B) 41

(C) 43 (D) 35

Faiz is at point A and faces in the north direction.
Hewalks 12m in a straight line. He then takes a right
turn and walks 5m. He then turns 900 in anti-clockwise
direction and walks 6m. He then turns 90° in clockwise
direction and walks 4m. He then takes a right turn and
walks 10m. He then walks 4m inwest direction. Finally,
he takes a left turn, walks 10m and reaches home.
What is the direction of his home with respect to point
A?

(A) South-east
(C) North-west

(B) North-east
(D) South-west

From the given options which answer figure cannot be
formed by folding the given figure in the question?

N
R|X
(0]
TIM
M R
r |® 1 &
(A) (B)
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In the question, assuming the given statements to be
true, find which of the following conclusion(s) among
the two conclusions is/are true and then give your
answer accordingly.

Statements: C>W=0=P2Q=Nz=M
Conclusions: I. M <W

I.C>Q

(A) Only conclusion | is true

(B) Only conclusion Il is true

(C) Both conclusions | and Il are true

(D) Neither conclusion | nor conclusion Il is true

Which among the following word cannot be formed
using the letters of the given word only once?

VERSATILE
(A) REVEAL
(C) STEALS

(B) SILVER
(D) TEASER

Identify the correct water image of the given
combination.

o

(B)

(C) g (D)

In the given diagram, the triangle stands for 'Persons,
who attempted Physics exam’, the rectangle stands for
'Persons, who attempted Chemistry exam' and the
square stands for 'Persons, who attempted History
exam'. The number in the different segments
represents the number of persons in that category.

/\\
/ 28 |21

% |

15

41

What is the total number of persons, who attempted
only Physics, only Chemistry exam and only History
exam?
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i | | a—
(A) 77 (B) 60
(C) 89 (D) 100

Quantitative Aptitude

In the given figure, 'O' is the centre of the circle and
«BAC =30° and «CBD = 20°. Find the value of ZADE.
A

D
B 8) Cc
(A) 60° (B) 90°
(C)80° (D) 100°

If a seven-digit number 72x92y6 is divisible by 72,
then find the smallest value of 'x + y'.

(A)8 (B) 10

(€)1 (D)3

The bar graph given below shows the income (in lakhs)
and expenditure (in lakhs) of a company over 5 years,
from 2016 to 2020. Read the graph carefully and
answer the question.

400

225 >9

280

L7777 77 &

N N N
2016 2017 2018 2019 2020
&Income of the company
@ Expenditure of the company

What is the average income (in lakhs) of the company
in the given 5 years together?

(A) %367 (B) 3425

(C) %231 (D) 3321

The simplified value of is: %
768“+768%X764+764

(A)8 (B)S

(C)4 (D)6

Find the curved surface area of cylinder with radius
10.5 cm and volume 6,237 cmq.
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(A) 1,232 cm?
(C) 1,155 cm?

(B) 1,188 cm?
(D) 1,078 cm?

What is the greatest common factor of the

fractions E,E, and %7
25~ 5 25

(A) 9/50

(C) 8/15

(B) 9/25
(D) 12/25

The difference between the compound interest
(compounded annually) and simple interest on a
certain sum invested at the rate of 25% per annum for
2 years is ¥2,400. Find the sum.

(A) ¥33,500 (B) 232,400

(C) ¥30,600 (D) 38,400

If tan36tan76 = 1, where '0' is an acute angle, then
find the value of cot56.

(A) -1 (B) 2

(¢)o (D) 1

If x? — = = 8v/5and x > 1, then, find the value of .x* —
1

(A) 2745 (B) 34410
(C) 34+5 (D) 8410

Rishi takes 4 hours to travel from place 'X' to place 'Y’
at the speed of 80 km/h. After that he increases his
speed by 50% and takes 1 hour to travel from place 'Y"
to place 'Z'. What is the average speed of Rishi while
travelling from place 'X' to 'Z'?

(A) 88 km/h (B) 92 km/h

(C) 82 km/h (D) 85 km/h

The table given below shows loan (in crore) disbursed
by five banks from 2011 to 2014. Study the graph
carefully and answer the question that follows.

Bank | 2011 | 2012 | 2013 [ 2014
33 34 32 28
36 28 23 19
42 46 52 45
48 45 45 50
52 26 36 49

In which of the following banks did the disbursement of
loan continuously decrease over the years?

(A)B (B)C

(CE (D) A

m|o(O|m|>

cot?30° + sin?60° + %xcosz30° — sin?30°
(A) (2/3) (B) 3
(C) (5/4) (D) 4

An article is marked 70% above its cost price and
sold at a discount of 20%. Marked price of the article is
%340. Find the difference between profits earned if the
seller sold the article at a price which is 20% higher
than earlier selling price.
(A) 54.40

(C) %86.40

(B) 378.80
(D) 342.80

'A' can do 80% of the work in 12 days, while 'A" and
'B' together can complete 75% of the work in 6 days.
Find the number of days in which 'B' alone can
complete the whole work.

(A) Z days (B) 12 days
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(C) 18 days (D) == days
The table given below shows the number of persons
in different income ranges.
Income (in %) No. of persons
Less than 350 50
Less than 300 34
Less than 250 30
Less than 200 20
What is the percentage of number of persons who are
earning more than %300 out of number of people who
are earning less than 3507

(A) 50% (B) 32%

(C) 16% (D) 20%

If 232 _ 5 then what will be the value of 2422 7
a—-0.8b 6a-3b

(A) V3 (B) \2

(C)2 (D)3

Number of items in bag 'A' and bag 'B' are in ratio 3:5,
respectively. If average number of items in both bags
together were 160, then find the number of items in bag
‘A

(A) 240
(C) 160

(B) 200
(D) 120

'A' and 'B' invested their money in a business in the
ratio of 9:5, respectively for equal time. If 10% of the
total profit goes for charity and rest is divided between
'A" and 'B' in the ratio of their investments, then share
of profit of 'A" will be 10,125. What is the total profit
earned from the business?
(A) 15,400

(C) %17,500

(B) 314,050
(D) 311,600

'K' purchased a watch for 22,000 and sold it to 'L' at
40% profit. 'L' sold it to 'M" at 10% loss and 'M' sold it
to 'N' at 60% profit. Find the cost price of the watch for
'N'.

(A) 23,842
(C) %4,032

(B) 34,132
(D) 34,652

A boat covers 28 km in downstream in 2 hours and
covers the same distance in upstream in 7 hours. Find
the speed of the boat in still water.

(A) 9 km/h (B) 8 km/h
(C) 18 km/h (D) 16 km/h

. : 4 sin40° sin @
Find the simplified value of — + prwr S
(A) -1 (B)O
(€)1 (D)2

If AABC ~ APQR such that AB = 8 cm, QR = 18 cm,
and PQ = 12 cm, then find the length of the BC:

(A) 12 cm (B) 16 cm

(C) 10 cm (D) 20 cm

If (x2 - 3x + 1) = 0, then find the value of x> + x—13-

(A) 54 (B) 36
(c)18 (D) 27

A solid metallic sphere of radius 5 cm is melted and
recast to form 25 equal small solid spheres. The ratio
of the surface area of the solid metallic sphere to that
of the small sphere is:
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(A) 5:\5
(C) 25: 5

(B) 25: (¥/5)2
(D) 5: 1

The angle of elevation to the top of a building from a
point on the ground which is at a distance of 70 metres
from its foot, is found to be 60°. Find the height of the
building.

(A) 70V3 metres (B) 70/N/3 metres

(C) 25 metres (D) 12 metres

General Awareness

What is India's rank in the production of crude steel in
the world?
(A) First
(C) Third

(B) Second
(D) Fourth

The day-to-day administration of a Union Territory
(UT), which does not have its own elected Legislative
Assembly, is carried out by the

(A) President (B) Governor

(C) Home minister (D) Lt. Governor

Consider the following events during India's freedom
struggle:

I. Chauri-Chaura Outrage

Il. Minto-Morley Reforms

lll. Dandi March

IV. Montague-Chelmsford Reforms

Which one of the following is the correct chronological
order of the events above?
(A) I, 1V, 1, 11

(C) 1, 1L, 11, IV

8) 11, 111, 1, IV
(D) 1, IV, 11, 1l

Which of the following is NOT a tributary of the
Mahanadi River?
(A) Seonath

(C) Mand

(B) Jonking
(D) Bhavani

Laser is a device used for producing:
(A) Dispersed radiation

(B) Stimulated radiation

(C) Spontaneous radiation

(D) Scattered radiation

Eight Degree Channel separates the islands of

(A) Madagascar from mainland Africa

(B) Andaman and the Nicobar

(C) Minicoy and Maldives

(D) Minicoy and Lakshadweep archipelago

Who among the following has written the famous
book "Glimpses of World History"?

(A) Sarojini Naidu (B) Jawaharlal Nehru

(C) S. Radhakrishnan (D) Bal Gangadhar Tilak

Indian physicist C.V. Raman received Nobel Prize in
which year?
(A) 1928
(C) 1937

(B) 1930
(D) 1940

In 1951, the President's Rule was imposed in which
state of India for the first time?

(A) Kerala (B) Punjab

(C) Uttarakhand (D) Himachal Pradesh
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Which among the following is NOT a Neolithic site?
(A) Kanispur (B) Pallavoy
(C) Mehrgarh (D) Nagada

In which year '"Telangana' was formed?

(A) 2011 (B) 2012
(C) 2013 (D) 2014

is hailed as the Lavender Capital of India.
(A) Mairang (B) Dibang

(C) Bhaderwah (D) Champhai

The 'Goods and Services Tax' was proposed by a
task force, whose President was:

(A) Arun Jaitley

(B) Narsimham

(C) Vijay Kelkar

(D) Montek Singh Ahluwalia

The 'Deepavali Declaration' issued in the year 1929
was related to the:
(A) Dominion status
(C) Untouchability

(B) Labour leaders
(D) Communal problem

'Sanjay National Park' is located in which state of
India?

(A) Maharashtra

(C) Madhya Pradesh

(B) Andhra Pradesh
(D) Tamil Nadu

Consider the following and choose the correct option:
Assertion (A): The frequency of floods in North Indian
plains has increased during the last couple of decades.
Reason (R): There has been a reduction in the depth
of river valleys due to the deposition of silt.

(A) Both (A) and (R) are true, and (R) is the correct
explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

During the colonial period in India, what was the
purpose of the Whitley Commission?

(A) To report on existing conditions of labor and to
make recommendations

(B) To review the fitness of India for further political
reforms

(C) To develop a comprehensive scheme for Civil
Services in India

(D) To draw up a plan for financial reforms for India

The chemical formula KO2 corresponds to :
(A) Potassium oxide (B) Potassium superoxide
(C) Potassium ozonide (D) Potassium peroxide

What is the diameter of a tennis ball?
(A) 4.30-6.23 cm (B) 7.14-8.55 cm
(C) 6.54-6.86 cm (D) 3.27-5.39 cm

During the Sangam Age, the term 'Murugan' refers to

(A) Deity
(C) Priest

(B) Poet
(D) Military

'Eco Mark' is given to Indian products that are:
(A) Rich in proteins
(B) Economically viable
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(C) Pure and unadulterated
(D) Environment friendly

Which state government recently launched the
‘Mukhyamantri Majhi Ladki Bahin’ scheme’?

(A) Maharashtra (B) Odisha

(C) Gujarat (D) Kerala

Recently, the government of Uttar Pradesh has
decided to set up a bioplastic park in which district?
(A) Mathura (B) Agra

(C) Lakhimpur Kheri (D) Saharanpur

Recently, where was the Financial Action Task Force
(FATF) meeting held?
(A) China

(C) Indonesia

(B) France
(D) Singapore

Which agricultural scientist, awarded the Padma Shri
2024, is credited with developing 4 Kalanamak rice
varieties?

(A) Ashok Kumar Biswas (B) Omprakash Sharma
(C) Ram Chet Chaudhary (D) Dasari Kondappa

English Language

Select the most appropriate option that can substitute
the underlined word in the given sentence.

The unexpected expenses strained our budget.

(A) strengthened (B) depleted

(C) bolstered (D) augmented

In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

ELOQUENT
(A) articulate (B) mumble
(C) silent (D) verbose

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filled in the blank, thereby making the sentence
grammatically and contextually correct.

World Health Organisation (WHO) experts have
officially declared that COVID no longer a
public health emergency.
(A) repudiates

(C) constitutes

(B) subdues
(D) ascertains

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filled in the blank, thereby making the sentence
grammatically and contextually correct.

The chief executive would be more than happy if they

can that achievement this year.
(A) concur (B) reveal
(C) emulate (D) concede

In the following question, four different spellings of a
word are given, out of which only one is correct. Find
the correctly spelled word.
(A) defamation
(C) defemation

(B) deafamation
(D) defameating
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In the following question, four different spellings of a
word are given, out of which only one is correct. Find
the correctly spelled word.
(A) arbiteary
(C) arbetrary

(B) arbitrary
(D) arbitrary

In the following question, one part of the sentence may
have an error. Select the option containing the error as
your answer.

The grass where | stood to take (A)/ these pictures was
littered with (B)/ used soda bottles and other trash. (C)/

No error (D)
(A) A (B)B
©c (D)D

In the following question, one part of the sentence may
have an error. Select the option containing the error as
your answer.

The systems are created using (A)/ Machine Learning
and can (B)/ continued the shortcomings of the data.

(C)/ No error (D)
(A) A (B)B
(C)C (D) D

In the following question, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

One who loves to speak
(A) loquacious

(C) negligible

(B) hospitable
(D) conventional

Select the most appropriate meaning of the given
idiom.

The big picture

(A) a small mistake that leads to the overall failure of a
plan

(B) the hidden cost

(C) the end result

(D) a broader perspective

Directions [86-90]: In the following passage, some of the words
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have been left out and replaced by a blank. First, read
the passage and try to understand what it is about.
Then fill in the blanks as per the questions given.

In modern society, the importance of education cannot
be __ (A) ___ emphasised. Education is not only a
means of acquiring knowledge but also a pathway to
personal and professional growth. It empowers

individuals to ____(B) ____ their potential and contribute
meaningfully to society. Access to quality education is
essential for ___(C) __ development and social

progress. However, educational opportunities are not
evenly distributed, and factors such as socioeconomic
status and geographical location often __ (D) ___
access to education. Efforts to promote education
equity and inclusivity are crucial in ensuring that every
individual has the opportunity to fulfil their ___ (E) ___.

Find the correct word in case (A).

(A) adequately (B) extensively
(C) minimally (D) overzealously
Find the correct word in case (B).

(A) restrict (B) limit

(C) prolong (D) unleash




88.

89.

90.

91.

92.

93.

94.
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Find the correct word in case (C). 95.
(A) rational (B) aggressive
(C) individual (D) wealthy

Find the correct word in case (D).
(A) impede (B) refuse
(C) commend (D) fuse
96.
Find the correct word in case (E).
(A) crimes (B) amusement
(C) predictions (D) aspirations

Select the correct indirect form of the given sentence.

Anwesha said to me, "l have a surprise for you."

(A) Anwesha told me that she had a surprise for me.

(B) Anwesha told me that she has a surprise for me. 97.
(C) Anwesha told me that she would have a surprise

for you.

(D) Anwesha told me that she will have a surprise for

me.

In the following question, a sentence has been given in
Active/ Passive

Voice. Out of the four alternatives suggested, select
the one which best expresses the same sentence

in Passive/Active Voice.

The employee has helped the intern to learn the tasks.
(A) The intern was helped to learn the tasks by the
employee.

(B) The intern is helped to learn the tasks by the 98.
employee.

(C) The intern was being helped to learn the tasks by
the employee.

(D) The intern has been helped to learn the tasks by
the employee.

In the following question, a sentence has been given in
Active/ Passive

Voice. Out of the four alternatives suggested, select
the one which best expresses the same sentence

in Passive/Active Voice. 99.
The man has ordered the children to keep out.

(A) The children were ordered to come out by the man.
(B) The children are ordered to come out by the man.
(C) The children were being ordered to come out by
the man.

(D) The children have been ordered to come out by the

man. 100.

In the following question, choose the word opposite in
meaning to the given word.

TACITURN
(A) loquacious (B) reserved
(C) concise (D) succinct
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In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

INDIGENOUS
(A) foreign (B) ancient
(C) native (D) modern

In the following question, a sentence is given with a
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

The new policy aims at (cutting out) on unnecessary
expenses to improve overall efficiency.

(A) cutting off (B) cutting up

(C) cutting back (D) No improvement

Given below are four jumbled sentences. Out of the
given option pick the one that gives their correct order.
P. New areas of the city were assiduously greened by
administrators, who planted trees.

Q. When one tree was chopped down, another was
planted to ensure continuity.

R. This practice of greening continued during the
British colonial period of governance, and later into the
20th century, after Indian independence.

S. Residents, in turn, watered and cared for them,
benefiting from the services they provided.

(A) RSQP (B) QPSR

(C) PQSR (D) QSRP

In the question below, a sentence is given with an
idiom highlighted in bold, followed by four options.
Select the option that gives the correct meaning of the
idiom.

The new employee hit the ground running and
quickly adapted to the fast-paced work challenges.
(A) became physically inactive

(B) adapted to new surroundings slowly

(C) started working diligently and effectively

(D) started running abruptly

In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

LENIENT
(A) lax (B) idle
(C) marvellous (D) fierce

In the following question, choose the word opposite in
meaning to the given word.

SECLUDED
(A) earnest (B) cherished
(C) triumphant (D) populated
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